FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m
H28. 3. 29 0.09 0.09 Bh
H28. 3. 28 ik ik
H28. 3. 25 0.08 0.09 Bh
H28. 3. 24 ik Rk 5]
H28. 3. 23 0.08 0.08 =
H28. 3. 22 0.07 0.08 =
H28. 3. 18 0.09 0.08 Bh
H28. 3. 17 0.09 0.09 Bh
H28. 3. 16 0.07 0.08 =
H28.3. 15 0.09 0.08 Bh
H28. 3. 14 ik ik 5]
H28. 3. 11 0.08 0.08 =
H28.3. 10 ik ik
H28. 3.9 0.08 0.08 =
H28. 3. 8 0.08 0.08 =
H29.3.7 ik ik 5]
H28. 3. 4 0.08 0.08 Bh
H28. 3.3 0.08 0.08 Bh
H28. 3. 2 0.07 0.07 Bh
H28. 3. 1 0.09 0.08 Bh
H28. 2. 29 ik thik 5]
H28. 2. 26 0.09 0.08 Bh
H28. 2. 25 0.08 0.08 Bh
H28. 2. 24 0.07 0.07 =
H28. 2. 23 0.08 0.08 =
H28. 2. 22 0.08 0.08 Bh
H28.2.19 0.08 0.09 Bh
H28.2. 18 0.08 0.08 Bh




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m
H28.2.17 ik ik
H28.2.16 0.08 0.07 Bh
H28.2. 15 0.08 0.08 =y ¢
H28.2.12 ik ik
H28.2.10 0.08 0.07 Bh
H28.2.9 0.08 0.08 Bh
H28. 2.8 0.09 0.09 Bh
H28.2.5 0.08 0.09 Bh
H28. 2. 4 0.08 0.08 =
H28.2.3 0.07 0.07 Bh
H28. 2.2 0.08 0.08 Bh
H28. 2. 1 0.08 0.08 =
H28.1.29 ik ik 5]
H28.1.28 0.07 0.08 Bh
H28.1.27 ik ik
H28. 1. 26 0.08 0.08 Bh
H28.1. 25 0.08 0.08 Bh
H28.1.22 0.07 0.08 = ¢
H28. 1. 21 0.07 0.08 Bh
H28.1.20 0.08 0.09 Bh
H28.1.19 0.08 0.07 = ¢
H28.1.18 ik ik 5]
H28.1.15 0.08 0.08 = ¢
H28.1. 14 0.07 0.08 = ¢
H28.1.13 0.07 0.08 Bh
H28.1.12 0.08 0.09 £
H28.1.8 0.08 0.08 £
H28.1.7 0.08 0.07 Bh




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m
H28.1.6 0.08 0.08 =
H28.1.5 0.07 0.08 Bh
H28. 1.4 0.07 0.08 Bh
H27.12. 28 0.06 0.06 =y ¢
H27.12. 25 0.07 0.07 =
H27.12. 24 ik Rk 5]
H27.12. 22 0.06 0.07 =y ¢
H27.12. 21 0.07 0.08 =
H27.12.18 0.07 0.07 =y ¢
H27.12.17 0.07 0.07 Eh
H27.12.16 0.08 0.07 Eh
H27.12. 15 0.07 0.07 =
H27.12. 14 0.07 0.07 =4
H27.12. 11 ik ik 5]
H27.12.10 ik ik ZY
H27.12.9 0.07 0.07 Eh
H27.12.8 0.07 0.07 =
H27.12.7 ik thik £
H27.12. 4 0.07 0.08 = ¢
H27.12.3 ik thik 5]
H27.12.2 0.08 0.08 =
H27.12.1 0.07 0.08 = ¢
H27.11.30 0.08 0.08 =
H27.11.27 0.07 0.08 Bh
H27.11. 26 thik thik 5]
H27.11.25 0.07 0.07 £
H27.11.24 0.08 0.07 £
H27.11.20 thik thik 5]




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m
H27.11.19 0.07 0.07 Bh
H27.11.18 0.08 0.08 =
H27.11.17 0.08 0.07 Bh
H27.11.16 0.07 0.08 Bh
H27.11.13 ik Rk 5]
H27.11.12 0.07 0.08 Bh
H27.11. 11 0.08 0.07 Bh
H27.11.10 ik Rk 5]
H27.11.9 0.07 0.08 =
H27.11.6 0.08 0.08 Eh
H27.11.5 0.08 0.08 Eh
H27.11.4 0.08 0.08 Eh
H27.11.2 ik ik
H27.10. 30 0.08 0.08 =
H27.10. 29 0.08 0.09 =
H27.10. 28 0.08 0.08 =
H27.10. 27 0.08 0.08 Eh
H27.10. 26 0.08 0.08 = ¢
H27.10. 23 0.07 0.08 =
H27.10. 22 0.08 0.08 Bh
H27.10. 21 ik ik
H27.10. 20 0.09 0.08 Bh
H27.10.19 0.08 0.08 Bh
H27.10. 16 ik ==N1d 5]
H27.10. 15 0.07 0.07 Bh
H27.10. 14 0.08 0.08 £
H27.10. 13 0.07 0.08 Bh
H27.10.9 0.08 0.08 Bh




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700

2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)

3 AIERR

(B : w4 0—R)L /B
e BIEE (uSv/h) iz
Tm 0. 5m

H27.10.8 0.08 0.08 Bh
H27.10.7 0.08 0.09 £
H27.10. 6 0.07 0.08 £
H27.10.5 0.08 0.08 £
H27.10. 2 0.08 0.08 £
H27.10.1 ik Rk 5]
H27.9. 30 ik Rk 5]
H27.9. 29 0.09 0.08 Bh
H27.9. 28 0.08 0.08 Bh
H27.9. 25 ik ik 5]
H27.9. 24 0.08 0.08 £
H27.9.18 ik ik 5]
H27.9.17 ik ik 5]
H27.9.16 0.08 0.07 £
H27.9.15 0.09 0.08 £
H27.9. 14 0.09 0.1 Eh
H27.9. 11 ik ik 5]
H27.9.10 0.1 0.1 £
H27.9.9 ik thik 5]
H27.9.8 ik thik 5]
H27.9.7 ik thik 5]
H27.9. 4 0.08 0.08 £
H27.9.3 0.08 0.08 £
H27.9.2 ik thik 5]
H27.9.1 0.08 0.09 £Y
H27. 8. 31 0.08 0.09 £Y
H27.8. 28 thik thik 5]
H27.8. 27 0.08 0.08 £Y




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m
H27. 8. 26 ik ik 5]
H27.8. 25 0.08 0.09 =
H27.8. 24 0.08 0.08 =
H27. 8. 21 0.08 0.08 =y ¢
H27.8. 20 0.08 0.08 =
H27.8.19 0.08 0.08 =
H27.8.18 ik Rk 5]
H27.8.17 ik Rk 5]
H27.8. 14 0.08 0.08 =
H27.8.13 ik ik 5]
H27.8.12 0.07 0.08 =
H27.8. 11 0.08 0.08 =
H27.8.10 0.08 0.08 =4
H27.8.7 0.08 0.08 Bh
H27.8. 6 ik ik
H27.8.5 ik ik
H27.8. 4 0.08 0.08 Bh
H27.8.3 0.08 0.08 = ¢
H27.7. 31 0.08 0.08 = ¢
H27.7.30 0.08 0.08 = ¢
H27.7.29 0.08 0.08 = ¢
H27.7.28 0.07 0.08 =
H27.7.217 0.08 0.08 Bh
H27.7. 24 0.08 0.08 = ¢
H27.7.23 thik ik
H27.7.22 0.09 0.09 Bh
H27.7. 21 0.09 0.08 Bh
H27.7.20 thik ik




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700
2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)
3 AIERR
(B : w4 0—R)L /B
e BIEE (uSv/h) iz
Tm 0. 5m
H27.7.17 ik ik
H27.7.16 0.08 0.08 £
H27.7.15 ik ik
H27.7.14 0.09 0.09 Bh
H27.7.13 0.08 0.08 Bh
H27.7.10 ik ik
H27.7.9 0.08 0.08 £
H27.7.8 0.08 0.08 £
H27.7.7 0.08 0.09 £
H27.7.6 ik ik 5]
H27.7.3 ik ik 5]
H27.7.2 0.09 0.09 £
H27.7.1 ik ik 5]
H27.6. 30 0.08 0.09 £
H27.6. 29 0.08 0.08 i
H27. 6. 26 ik ik ZY
H27.6. 25 0.09 0.09 £
H27.6. 24 ik thik 5]
H27.6. 23 0.08 0.09 = ¢
H27.6. 22 0.09 0.09 £
H27.6.19 ik thik 5]
H27.6.18 0.08 0.09 £
H27.6.17 0.08 0.08 £
H27.6.16 0.09 0.09 £
H27.6.15 0.08 0.08 i
H27.6.12 thik thik 5]
H27.6. 11 0.08 0.08 £Y
H27.6.10 0.08 0.09 i




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700

2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)

3 AIERR

(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m

H27.6.9 ik ik 5]
H27.6.8 0.08 0.08 B
H27.6.5 0.09 0.09 =y ¢
H27.6. 4 0.09 0.09 =
H27.6. 3 ik Rk 5]
H27.6. 2 0.09 0.09 =y ¢
H27.6. 1 0.09 0.09 =y ¢
H27.5. 29 0.08 0.09 =
H27.5. 28 0.09 0.09 =y ¢
H27.5. 27 0.09 0.09 Eh
H27.5. 26 0.08 0.09 Eh
H27.5. 25 0.08 0.08 =
H27.5. 22 0.08 0.08 Eh
H27.5. 21 0.08 0.09 Eh
H27.5. 20 0.07 0.09 Eh
H27.5.19 ik ik 5]
H27.5.18 0.08 0.08 Eh
H27.5.15 0.08 0.08 = ¢
H27.5. 14 0.09 0.09 = ¢
H27.5.13 0.08 0.08 = ¢
H27.5.12 0.09 0.08 =
H27.5. 11 0.08 0.08 = ¢
H27.5.8 0.08 0.08 =
H27.5.7 0.08 0.08 =
H27. 4. 28 0.08 0.08 Bh
H27. 4. 21 0.08 0.08 Bh
H27. 4. 24 thik thik 5]
H27. 4. 23 0.08 0.08 Bh




FERMHAICE T X[ P OBSGHRERERER

1 BIEZAT FWHMEAATE FAEES EORIK : 727700

2 A 7E B T BDOFRI9R002EZ B&ITRIE (FRXHLE)

3 AIERR

(B : w4 0—R)L /B
A% B BIEE (uSv/h) p_—
Tm 0. 5m

H27. 4. 22 0.08 0.08 Bh
H27. 4. 21 0.08 0.08 =
H27. 4. 20 ik Rk 5]
H27.4.17 0.08 0.08 Bh
H27.4.16 0.08 0.08 Bh
H27.4.15 0.09 0.08 Bh
H27.4.14 ik ik 5]
H27.4.13 0.08 0.08 =
H27.4.10 0.08 0.09 =
H27.4.9 ik ik 5]
H27.4.8 ik ik 5]
H27. 4.7 ik ik 5]
H27.4.6 ik ik 5]
H27.4.3 0.08 0.08 =
H27. 4.2 0.08 0.08 Eh
H27. 4.1 ik ik 5]




